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1BRIEAS | BTEat BROERN | REREO
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e oxs | B B E%—*rge)ﬁ;w_?]lg %%)%]tﬁ 2FRYME LY 004ppmE

ZEDHE Bal-BH%
=] B ppm | BFRE| % B % ppm ppm H-E =]
& TFFEAT =T ERER 100 * 356 | 8567 | 0.001 1 0.0 0 0.0 0.105 0.007 3 0
EEEESK 97 * 358 | 8593 | 0.003 0 0.0 0 0.0 0.045 0.006 i3 0
HERE T S FE R 2R 97 *® 359 8612 0.004 0 0.0 0 0.0 0.051 0.009 3 0
ERFRE®R 97 * 173 | 4220 | 0.003 0 0.0 0 0.0 0.049 0.009 3 0
KEDHNER 97-2 * 339 | 8198 | 0.001 0 0.0 0 0.0 0.025 0.003 m 0
H A BRTTIIEELSE 97-2 &) 358 8622 0.002 0 0.0 0 0.0 0.061 0.009 3 0
MEAREE 97-2 #T 342 | 8242 | 0.003 0 0.0 0 0.0 0.044 0.009 i 0
SHRET | SERETEE DY a— 100 * 357 | 8574 | 0.002 0 0.0 0 0.0 0.039 0.006 3 0
B fRIERT 100 * 362 | 8652 | 0.001 0 0.0 0 0.0 0.098 0.007 i3 0
A RN 100 * 364 | 8679 | 0.002 0 0.0 0 0.0 0.036 0.006 " 0
My HPEE 100 * 363 8666 0.001 0 0.0 0 0.0 0.050 0.004 = 0
INKRTH INRER (R 100 * 362 | 8660 | 0.001 0 0.0 0 0.0 0.084 0.003 i3 0
HERE T MR BHR 97 * 246 5943 0.004 0 0.0 0 0.0 0.056 0.012 3 0
Rk BHEHD 100 i3] 364 | 8675 | 0.001 0 0.0 0 0.0 0.054 0.005 = 0
ELIR 100 [i5] 366 | 8740 | 0.001 0 0.0 0 0.0 0.021 0.003 m 0
= HEF 100 * 336 8031 0.002 1 0.0 0 0.0 0.120 0.004 3 0
it B 100 * 361 8651 0.004 0 0.0 0 0.0 0.039 0.007 i 0
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—E{EZE % (NO) ZEIEZER (NOy) EHEEW (NO+NO,)
- o | 1BEREEDY | S . | BEHEH
B 22 | me 1EsRE| BT Pt 0 pombL ot | 0.04ppmE A (s | SSHERHEI 1B R
g A g B T 18 1BSRIME | e 0.20pmEL T | V% £0.06ppm Y rzETE TR nEmEn T8
THET£ BIER% GIE¥ X B THiE | DRE ) EHE o RBZ 1= Bxf . 1)) S EHE | DS
PN Xig NEREIE % D ; UTD $H%0.06ppm% 98%{E NO,./(NO+NO,)
DEH & 98%fi& BRI & B#L 5 98%{E - &
FiNIN BFfEIsh e ZOEA B#L BAa-AH%
N W O E= SR FoEls
B B | ppm ppm ppm ppm ppm Bl | % | BRI % | BH| % | BH| % ppm H ppm ppm ppm %
EFEEESR 97 * 343 8284 | 0.001 | 0.030 0.004 0.003 0.029 o |oo| o |oo|of| 0o |o0] 00 0.009 0 0.004 | 0.052 0.011 83.4
R FERE R FT 97 * 361 8663 | 0.002 | 0.041 0.004 0.005 0.031 0 ool o |oo|of 00 |0] 00 0.009 0 0.006 | 0.055 0.012 76.4
R TR 97 £ 303 7310 | 0.001 | 0.010 0.001 0.003 0.035 o0 [oo|] o Joo]lo] 00 |0O] 00 0.009 0 0.004 | 0.036 0.010 87.0
REBINER 97-2 % 255 6149 | 0.000 | 0.007 0.000 0.001 0.016 o0 [oo| o Joo]lo] 00 |0O] 00 0.005 0 0.001 | 0.023 0.005 95.7
B BRI HiI REEE 97-2 [i5] 359 8601 | 0.001 | 0.033 0.003 0.004 0.034 o0 [oo|] o Joo]lo] 00 |0O] 00 0.009 0 0.005 | 0.042 0.011 80.5
HENRE 97-2 #£T 345 8290 | 0.002 | 0.070 0.005 0.006 0.044 o0 ool o Joo]lo] 00 |0] 00 0.012 0 0.008 | 0.114 0.016 76.7
ERET | BRETEEOYE 24— 100 * 352 8463 | 0.001 | 0.064 0.002 0.005 0.026 0o [oo| o |oo|of 00 |0] 00 0.010 0 0.006 | 0.090 0.011 90.3
- BHERER 100 = 0 0 - - 0.000 - - 0 - 0 -1lo - 0 - 0.000 0 - - 0.000 0.0
=]

SRR 100 % 364 8676 | 0.001 | 0.024 0.003 0.004 0.020 o0 [oo| o Joo]lo] 00 |0O] 00 0.007 0 0.005 | 0.037 0.010 79.7
kT MHASE 100 x 354 8465 | 0.001 | 0.051 0.007 0.005 0.031 0o |oo| o |oo|of 00 |o0] 00 0.010 0 0.006 | 0.074 0.017 784
R FERBHE 97 * 330 7995 | 0.007 | 0.067 0.015 0.008 0.091 o0 [oo| o Joo]lo] 00 |[0O] 00 0.015 0 0.015 | 0.121 0.028 54.9
L MAEEHH 100 ] 359 8571 | 0.015 | 0.200 0.034 0.013 0.049 o0 [oo| o |oo|of 00 |o0] 00 0.021 0 0.028 | 0.220 0.053 45.7
TR 100 * 361 8626 | 0.002 | 0.103 0.006 0.004 0.032 o0 [oo|] o Joo]lo] 00 |0] 00 0.009 0 0.006 | 0.111 0.013 67.3
=g ETREEEHR 100 £ 327 7860 | 0.006 | 0.057 0.014 0.009 0.041 0 [oo| o |oo|of 00 |0] 00 0.016 0 0.015 | 0.088 0.028 60.8
EEBEHR 100 4] 366 8741 | 0.007 | 0.079 0.019 0.010 0.047 0 |oo|l o Joo|lo]| oo | O] 00 0.018 0 0.018 | 0.101 0.031 58.7
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=] B ] ppm H B ] =] B ppm ppm
= T FEHET = TR R EERT 100 * 357 5070 0.025 23 111 0 0 0.087 0.034
IR E SR 97 * 364 5280 0.023 15 51 0 0 0.073 0.033
3T

$EFE R EEFR 97 x 335 4689 0.025 28 111 0 0 0.088 0.038
REBINER 97-2 * 325 4596 0.033 23 129 0 0 0.094 0.044
AR e RE 97-2 BT 361 5197 0.027 13 62 0 0 0.075 0.037
SHRET | SHRETEEOYtE 42— 100 * 364 5322 0.027 10 48 0 0 0.078 0.036
AR EFT 100 * 270 3789 0.032 25 131 0 0 0.084 0.044
Amm RN 100 i3 366 5369 0.035 56 310 0 0 0.095 0.047
] HE=E 100 * 359 5187 0.023 9 37 0 0 0.069 0.033
INRTH INKMREEFR 100 *x 74 1106 0.038 5 33 0 0 0.079 0.049
ELR 100 ] 154 2270 0.029 4 12 0 0 0.064 0.038
A0 TidES| 100 * 364 5389 0.025 16 72 0 0 0.096 0.036
A BINERBEHR 100 *x 366 5421 0.024 7 23 0 0 0.076 0.036
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1ESRES | BT A ¥R e
R B3 B 0.20mg/m’% 0.10mg/m*% | 1B5RfE| B EMIE Oéo_mfg_/énfﬁf I(:ck%
- B mg | ME | g | FOE 1 HBaf NESE » “'ZKE L B 15 A
T4 AERA MRS | g | B& | T BRI B#E B | 2%BsHiE s 3
DR5 OIS Z0ES EfrLr= 0.10mg/m°%
= b {OF=F :: BA-BH
H B | mg/m® | BERE % H % | mg/m*| meg/m® -8 =]
ERERIERT 97 PS 315 7971 0.029 0 0.0 00 | 0.192 0.067 i 0
R
EEEBRSHK 97 * 129 3141 0.013 0 0.0 0 00 | 0071 0.029 3 0
BHmE™ BmHIiIREEE 97-2 ] 347 8442 0.018 0 0.0 0 0.0 0.185 0.041 = 0
SERET |SMETEE Y 24— 100 £ 248 6015 | 0.018 0 0.0 0 00 | 0.080 0.040 3 0
- BRI fRERT 100 *F 362 8720 | 0014 0 0.0 0 00 | 0.086 0.033 3
HRINEAR 100 % 351 8564 | 0.022 3 0.0 1 03 | 0234 0.066 = 0
TR MHEE 100 X 363 8722 | 0.019 0 0.0 0 00 | 0.089 0.044 3 0
INGRT INRERBERR 100 PS 363 8730 | 0.009 0 0.0 0 00 | 0.063 0.021 i 0
EERE T FERBHE 97 *F 357 8598 | 0.021 6 0.1 1 0.3 | 0.330 0.062 i 0
BT MBS 100 [} 366 8748 | 0.023 0 0.0 0 00 | 0.134 0.046 3 0
ELE 100 5] 267 6448 | 0.021 0 0.0 0 00 | 0144 0.056 i3 0
HEF 100 * 330 7993 | 0.021 0 0.0 0 00 | 0157 0.037 3 0
=& TRE 100 £ 366 8770 | 0.025 0 0.0 0 00 | o.162 0.051 3 0
BTEEEHR 100 £ 359 8637 0.020 0 0.0 0 00 | 0.139 0.050 3 0
HEEBEHR 100 [z} 366 8769 | 0.020 0 0.0 0 00 | 0.178 0.050 i 0
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N FEE{J A A H{E 35p.g{m3§ 1BfEE | B TEHIE "I:oté .

4 A B4 wzms | PE | BE | B il 26| B | a2m | oo i

X 15 &= E H#é X = B ] 35ug/m %

0153 ZTDEE BA-B#
H B | pe/m® | pg/m® H % ug/m’ ug/m° H
= THEET = FRaRGERT 100 * 361 8682 12.2 42.7 3 0.8 64 28.3 0
ERR T 3 PR BE R 97 ES 363 8704 12.7 36.4 3 0.8 54 30.8 0
FERRA| FEXRBRAMERISELS 100 x 362 8730 10.2 32.3 0 0.0 57 26.3 0
BT BRI REERT 100 * 73 1765 14.8 37.4 1 1.4 53 28.2 0
#R H#R I = 100 * 253 6053 16.5 40.0 2 0.8 71 31.9 0
INRTH INRERBERR 100 x 350 8499 12.9 41.0 2 0.6 64 305 0
EXIR 100 5] 366 8757 12.2 38.3 1 0.3 112 31.0 0
%7 100 * 333 8007 12.9 38.7 3 0.9 112 29.8 0
BET i 100 * 362 8706 13.1 38.4 5 1.4 107 333 0
=aTEEEER 100 * 363 8749 14.8 49.0 7 1.9 141 34.0 0
EB/INERBEEER 100 x 342 8207 11.6 36.3 1 0.3 98 305 0
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sEsRAMEAS | BTE E'ﬁ;”'}”'*ij;“ ﬁg%ﬁ% 1SR AS
<L - 20ppm%E 10ppm% | 1E5RAfE | AFIGME| o ;7?, mE 4 i 30ppmil t
= g | ME | gppy | THE| BAE Bifz | oBRE| o SR BLE Fimas | EE2r
LT AERE meEs | Lo | Bx | BF E%e A% & |owmovis| 252 REOES | cenins
oxsn | % zofla | Toma ST 9o B %
= = EDBE HBz-A%

H B ppm ] % =] % ppm ppm " & H =]
ERE T FIEEBHEE 97 =F 161 3893 05 0 0.0 0 0.0 1.1 0.6 i 0 0
EETH i BHEE 100 5] 240 5752 0.3 0 0.0 0 0.0 1.2 0.4 i 0 0
=50 STEEEEER 100 = 366 8729 0.3 0 0.0 0 0.0 2.1 0.6 i 0 0
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6~ 9fF

- g | 679 6~ OB 3B 6~ OB53ES R T 191 | 6~ 9BFIBSRI T 10 ME

i B E‘:'ff'ﬁ BE | FHE | 2HT5 EE H30.20ppmCHEFEBZ 1= | H30.31ppmCHIB A 1=

GiE4 BIER% RIRES Kig TE B T4 1E B#%eErnEAE|BHEFTDEAE

D5
e iE | RIEE

R H ppmC ppmC ppmC ppmC H % H %
ERETH FEFEREEFR 97 * 4967 205 0.12 0.12 0.20 0.05 0 0.0 0 0.0
Bmh REBINER 97-2 E3 8289 329 0.06 0.06 0.22 0.02 1 0.3 0 0.0
ERETH HERBHR 97 E3 7440 | 292 0.04 0.05 0.53 0.00 5 1.7 3 1.0
T I BEHER 100 ] 7983 | 335 0.09 0.12 0.30 0.00 27 8.1 0 0.0
ESTREEEHR 100 E3 8701 366 0.09 0.09 0.26 0.01 4 1.1 0 0.0
=500 AEEEEEE 100 4] 8673 | 363 0.10 0.11 0.38 0.02 3 0.8 1 0.3
cA=PIN=E:35] 100 *x 8625 362 0.11 0.11 0.19 0.04 0 0.0 0 0.0




_gz_

AU B UERAE KSR (CH4, THC: FERE)

A3 (CH,) £ Rk 1EKZHR(CH,+NMHC)
R g7 6~ 9FF 6~ 9RF 6~ 9RF
L 5 M | e ;ﬂl]‘;""E §~9E# Kl §~9E|# 3BF A
M4 BERA AR EE3 Xig A% | F¥HE | I<ET5 Tl FHE | 2BFD FiE
DX5 FifE FifE
e iE| RIEE &a B RIEE
B H ppmC | ppmC | ppmC | ppmC [ ppmC | ppmC | ppmC | ppmC
S Th 3IE [iE) R 12 P 97 ES 4967 | 205 1.86 1.87 197 | 173 | 1.99 1.99 215 | 1.83
=10 REB/NER 97-2 * 8289 | 329 1.86 1.87 207 | 161 1.92 1.93 217 | 1.65
$EfE Th R B HEE 97 * 7440 | 292 1.92 1.93 214 | 1.76 | 1.96 1.98 254 | 1.77
#R i B 100 ] 7983 | 335 2.00 2.09 257 | 176 | 2.09 2.21 287 | 1.80
aTEEEER 100 * 8701 | 366 1.96 2.02 232 | 1.70 | 2.04 2.11 252 | 1.74
=T FAEIREHRE 100 ] 8673 | 363 1.90 1.94 260 | 1.66 | 2.00 2.05 275 | 1.69
cH=RIN=E: 35 100 * 8625 | 362 1.90 1.93 218 | 1.69 | 201 2.04 233 | 1.76




